Math 72 §.6

O/fao'euﬁwf |
‘) Facter c:o’VV\P'Le“’P/L\j' uSTvLa
# review yuettiods
A Vaognﬁ?—e, when 4o do eacl, et o

ap FV'O_P ~ a:FQ wiretthod s ,

[MPORTANT

Mhen @ac#or-?mj On £eXp esSion ,C\no = Sig“')) ;

e -Q'\‘onv\ resuld was\f Qc‘wa/\, Haa ovt‘ﬂhn.od '
Ques 3 ou. : '

We CAV\WO\' \Mw\-'n\p(v;, ’w oLiuI‘oLe vk\/ any i ben
‘ Fqg&—prs ’\N‘/\,; (J,\ \’\ﬁ-v-& \0«2-&‘« {la,c,{—ovw;a( ot are Pd.l\';‘

OQ* HMeie Q—\‘V\A.,\ LS W,



Process for Factoring over the Integers
Main concept: Factoring “un-does” multiplying. Multiplying “un-does” factoring.

~~When in doubt, multiply your result. You should get your original expression (or a simplified version of it).
When factored, all addition and subtraction must be inside parentheses.

Step 0: Get organized.
Arrange the terms in standard form, descending from the leading (highest-degree) term first.

(If there is more than one variable, choose a variable and arrange in descending order by that variable.)
Step 1: GCF. Factor out the greatest common factor from all terms.

Step 2: Count the terms.
Terms are separated by add or subtract symbols which are outside parentheses.

Step 3: 2-term patterns.
3a: Sum ofsquares: a* +b° is prime.
3b: Difference of squares: a® ~b” = (a—b)a +b)
3c: Sumofcubes: @®+5° =(a+ bXa2 ~ab+ b2)
3d: Difference of cubes: a® —b° = (a—b)a® +ab+b?)
~—I{For 3c & 3d, the acronym S.0.A.P. can be used for the three signs: Same - Opposite - Always Positive]

Step 4: 3-term patterns:

4a: Perfect Square Trinomial (sum): a” +2ab+b* =(a+b)
4b: Perfect Square Trinomial (difference): a® —2ab+b* =(a—b)
4Ac: Leading coefficienta = 1: x* +bx+c;
¢ Find two numbers that multiply to c and add to b using guess-and-check or magic X.
4d: Leading coefficienta # 1: ax’ +bx+c;
e Use guess-and-check by finding numbers for the first terms that multiply to @ and numbers for the
second terms that multiply to c, or
e Use the “double magic X” by finding two numbers that multiply to the product ac and add to b, then
use these to rewrite the middle term and factor by grouping.
4e: If the expression is quadratic in form, a(garbage)’ + b(garbagé)+ c,
e Substitute u=garbage to get a true quadratic, factor using u and one of the methods 4a-4d, then
replace u by garbage, simplify inside parentheses. Check for greatest common factor.

Step 5: 4-terms, factor by grouping.
~Ra: Two groups of two terms: GCF first group, GCF second group, binomial GCF.
sb: Three terms make a perfect square trinomial minus a perfect square, then factor difference of squares.

AN
\ Step 6: Factor each factor. Continue factoring until every factoris prime.
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Examples of prime factors:

—Monomial GCF: —3xy3 or 2x
inear Binomial: (x —4) or (2x — 3)
Sum of squares: (x2 + 4)
Sum of a square with a non-square: (x2 + 7)
Difference of a square with a non-square: (x? — 8)
A sum or difference with one square and one cube: (x* — y3)
The trinomial factor from a sum or difference of cubes: (x2 — 2x + 4) or (x? + 2x + 4)

Examples of factors that are not prime and can be factored:

Linear binomial witha GCF: (2x — 4) = 2(x — 2)

Quadratic binomial with GCF: (14x% +7) = 7(2x2 + 1)

A perfect square trinomial: (x2 —2xy +y2) =(x—y)(x—y) = (x — y)?
Asumofcubes: (x3+y3) = (x +y)(x? —xy + y?)

Difference of fourth powers (difference of squares twice, with a prime sum of squares):
(x* =y = -y +y*) = (x = )x + Y)(x* + y?)

Difference of sixth powers (difference of squares, then difference of cubes and sum of cubes):
=y = (* =y + %) = (x = y)(x? + xy + ¥y (x + ) (% — xy +¥?)

The number 1 is a perfect square, a perfect cube, a perfect 4* power, ... any power of 1 is 1.
x*-1D)=&*-DE*+1D) = -DE+1DE*+1)
G+ =x+DEE-x+1)

The number 64 is both a perfect square (64 = 82) and a perfect cube (64 = 43):
(x3 +64) =)(x + 4)(x? — 4x + 16)
(x*—64) = (x*-8)(x%2 +8)

The number 16 is both a perfect square (16 = 4%) and a perfect 4" power (16 = 2*):
(x*-16)=(x2—4)(x?+4)=(x—-2)(x + 2)(x%2 + 4)

Common Mistake:
A perfect cube is not the same as a sum of cubes or a difference of cubes:
x3 — 6x2 + 12x — 8 = (x — 2)3 because when multiplying (x — 2)® = (x — 2)(x — 2)(x ~ 2), like terms
~ o not add to zero.
x3 + 6x2 + 12x + 8 = (x + 2)3 because when multiplying (x + 2)3 = (x + 2)(x + 2)(x + 2), like terms do
not add to zero.
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 Factor completely. (Recall: Factoring is the opposite of multiplying. Check work by multiplying.)

Factoring out a monomial or binomial Greatest Common Factor (GCF) «—
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Factoring trinomials with leading coefficient not equal to 1 and not a GCF

~ 5) 2x*+11x+15

Hint; -Fad"wf&do\-e ol o
F-Yac 15 o @) pertech

9:1 aare

Whod |1 Guess and checl . vig FX L Metbod L2 “double X" fo rewrite % e
kLo gy T check 0+T T8 e e Hom al+br+c
: ix\9 3 a £ 46 20
» 1% 2 <6, ¢/ Seek Auso ¥ Haak multiply
5 G and add ‘o M\l
(x « 1) 2x + 15) = 17x Mo " XCAUTION Ll B aewers
(x ri5)(2X & 1) — 3|x No ¢ 5 5 re tabvel
Z2XTE OX ¥ OX ¥ rewni e rigina
2K 5
COC " 5)( " ) = M YES s i ke +ermns wivh original
(x =« 5O(X + 5D & Bx o nust be ?

(% ¥3)(2x+

2

= AN (X+B) ¥ 5(«»«3\‘

= ‘ (xa2)(2%4) k

T

Factoring trinomials by substitution

*em'pwafi'hj re?[a.r.e/ a Cam!aiim{’zd park 'log_ W

6) 2’(a+3)2+5(a+3)—7 2(-7)
— e ’ -

A-’
| VX«;L

5

2u 4+ 5u-"7
2l Tu-2u- 7
—~ u(Zur1) —1(aurT)
(Pu+ V)Cu’l)
[2(ar3)+ 7] [ar3)—1]

[aa+6+ 7] [a+2]

((Gari3)a+2>]

7) 5x +29x7 —42
Lu’+ 29u — Ha

ixs (Y
2%2)
3x iy
(73 9 o

(su-6Xu + )

@3‘, ) ( x’5+-+ﬂ)

-3
A=X

replace @+3) bj “ WW%

retunn (A+3 Hia [.vea,oe of u.
dist 2

combine

b
(u)= (x3) = x

H’}‘_ﬁj’l Ha s la.rae/ Hant:  bish Lactey

S0 O UeSS

e
Ty

S50 w dovt

Hint: oha“g»e’
outer () 4o LI
can c_(a.)'u‘f—ia,-

"xdr& oy de

M705.5-5.7p.2



Perfect square trinomials ~ Memorize: a” +2ab+b* =(a+b)’ a® —2ab+b* =(a-b)

' ‘(‘9) 2
8 ? —10m+25

Difference or sum of squares Memorize: a’ —-b* =(a—-b)(a+b) a’ +b* is prime.
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= 2 (\e-81t") GcF
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-

10) 32 +162¢*

B
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